10+
E: 1004
Q
€ 104
Q
IS
1074
K|
1021, r T - - 0L+ — - =
0 50K 100K 150K 200K 250K
FSC mem-tdTomato VEGFR2

B B’
100
o [ FMo 800 .
3 804 — P5
g - P21 .
e = 600~
§ 60 £
s ] & 400+ )
£ ] ™
g 407 e
o ] > 2004
z ]
o 297 0
. P5 P21
O 28—
100 0 10° 10¢ 10°
C VEGFR2
Vehicle (P5) VEGFR2 Blockade (P5)
” e e j g % & S

VECadCreER; mTmG

” <
C’ 15+ C D 84
*%* 2 *
B -
5. % 6+
2 £ 10+ o
g3 :
o E 4+
53 g —I—
F =4 =3
o S 5+ =
n - S 2-
g k-]
> 1<}
o
K]
= T
i
@ S
3
& o'\

A\ Q

DI

VEGFR Blockade (P21)

20~
" N.S
(=]
o
o 15+
>
=]
o
s 10
=
Q
s
> 57
B
N
. o,s
@ Q

VECadCreER mTmG



